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FOURTH SEMESTER
CE 45 - SURVEYING-1I
CIVIL ENGINEERING
Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART-A (10%2=20 marks)

1. What is the main advantage of tacheometric surveying?
2. What is an anallactic lens?
/ 3. What are the main objectives of Triangulation?
4.  What is meant by a base net?
5. What are the different kinds of errors of measurements?
6.  Write down the equation of mean square error.
7. What is called as celestial horizon?
8.  What are called Solastices?
9. List out any three uses of Hydrographic survey.

10. Define the term, “Parallax”.
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11. (@ () Explain how a subtense bar is used with a (8)
theodolite to determine the horizontal distance
between the two points.

(ii) The constant for an instrument is 850, the value of (8)
¢=0.5m and the intercept s=3m. Calculate the
distance from the instrument and the staff when
the micrometer readings are 4.628 and 4.626 and
the line of sight is inclined at +10°36". The staff was
held vertical.

Or

(b) To determine the distance between two points X and Y  (16)
and their elevations, the following observations were
taken upon vertically held staves from two traverse
stations R and S. The tacheometer was fitted with an
anallactic lens and the instrument constant was 100.

Stuton | BE | e | ovdinaton | wevion | Booring | o708 stafreadiogs
Lo|D

R 102060 | 1.50 | 800 | 1800 | X 15°14 | 489 110 | 185 | 2.60

s 102121 | 153 | 950 | 2500 | ¥ 340018 | 2y 132 | 1.91 | 250

Compute the distance XY, the gradient from X to Y and the
bearing XY.
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(a)

(b}

Derive an expression for the difference in level
between the two points by reciprocal vertical angle
readings from the two stations. Heights of instruments
and targets should not be ignored.

Or
From a satellite station S, 5.8 metres from the main
triangulation station A, the following directions were
observed.;
A 0 (U
B 132° 18 30"
C  232° 294 ¢
D 296 ¢ 117
The lengths AB, AC and AD were computed to be
3265.5m, 4022.2m and 3086.4m respectively.
Determine the directions of AB,AC and AB.
Describe the methods for the computation of the sides
of a spherieal triangle.
Or

The following are mean values observed in the
measurement of three angles a,f and Y at one station;

a =76 42’ 46”.2 with the weight 4
f= 134" 36’ 32”.6 with the weight 3
@+ f = 185° 35’ 24”.8 with the weight 2
f+Y+a =262° 18 10".4 with weight 1

Calculate the most probable value of each angle.
3




[image: image4.png]14. (a) Find the latitude of the place from the following data: (16)
Longitude of the place : 108° 30N
Altitude of Sun’s upper limb : 42° 12'40”
L.M.T of observation 250" p.m
Date of observation : Dec 15, 1947

Sun’s inclination at 0 hour on Dec.15, 1947 is
23°12'18".6(south) increasing at 107.6 per hour.

Equation of time at 0" on Dec.15 =+6»18.5%,
decreasing at 1.2° per hour

Sun’s semi-diameter = 15'16”.4

Or

(b) Find the shortest distance between two places A and B, (16)
given that the longitudes of A and B are 15° N and
12° 6'N their longitudes are 50° 12E and 54° OE
respectively.

Find also the direction of B on the great circle route.

Radius of the earth = 6370km.

15. (a) Describe the various methods of predicting the tides. (16)
Or
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Explain any one of an electronic distance
measurement instrument.

A section of line AB appears to be 10.16cm on a
photograph for which the focal length is 16cm.
The corresponding line measures 2.54cm on a
map which is to a scale 1/50,000. The terrain has
an average elevation of 200m above mean sea
level. Calculate the flying altitude of the aircraft,
above the mean sea level, when the photograph
was taken.





